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[OLD SYLLABUS]

[FIRSTHALF]
[ Marks : 45}
GROUP - A

Answer any two questions : 9x2
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Show that the gains from trade can be decomposed
into two components — gains from exchange
and gains from production specialization. 9

What is meant by an optimum tariff ? Derive the
standard formula for the optimum tariff. 9

State and explain the following theorem: 5+4
(a) Stolper-Samulson Theorem

(b) Rybczynski Theorem.

Critically evaluate the role of WTO in promoting
international trade between countries with

special emphasis on developing countries. 9
GROUP - B
Answer any three questions : 6x3

Briefly contrast the Elasticity Approach and the
Absorption Approach to Devaluation and the
Balance of payments.
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6. Establish the Heckscher-Ohlin theory of trade
in terms of price-defination of factor abundance
under fixed coefficient technology.

7. Examine the following statment :

Free trade is the best policy for a small country,
but not for a large country.

8. Explain why irreversibility of factor intensity is
neither necessary nor sufficient for factor price

equalization.

9, Distinguish between balance of trade and
balance of payment. '

10. Write a note on Leontief Paradox.

GROUP —-C

- Answer any three questions : - 3x3

11. What is the difference between the physical

definition and the price definition of factor
abundance.
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12. Discuss the stability condition of foreign
exchange market.

13. What is meant by protected trade ?

14, Differentiate between nominal and real exchange
rates.

15. What was the Bretton Wood system ?

16. What is community indifference curve ?

[ SECOND HALF]
[ Marks : 45 ]
GROUP - A

Answer any two questions : 9%x2

17. Briefly discuss the basic assumptions and
justifications of the Ability to pay Approach to
Taxation.

18. Do you think that an indirect tax imposes an
excess burden on the consumer compared with
a direct tax of equal yield ?
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19. For providing public good, what is the necessary
condition for optimum resource allocation ? Is
it different from the case of aprivate good ?

Explain.

20. Examine the effect of income tax on savings and
work effort.

GROUP - B

Answer any three questions : 6x3

21. Critically discuss the solution proposed by
Lindahl regarding the optimal prowsxon of
public good

22. How is the government budget deficit measure‘d ?
Describe the problems with the usual measurc
of the budget deficit.

23. What is balanced budget multiplier ? Is it always
' equal to one ?
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24,

25.

26.

27.

28.

29.

30.

(8)

Examine the role of elasticities of demand
and supply in the distribution of tax burden
between buyers and sellers.

Explain the free-rider problem related to the
provision of public good.

Identify the major sources of tax and non-tax
revenue of central and state governments.

GROUP - C
Answer any three questions : Ix3

Distinguish between value added tax and
sales tax.

What is the difference between spite effect and
purchase effect ?

What are the problems of taxing capital gains "

What is Laffer curve ?
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31 Differentiate between proportional tax and
progressive tax. '

32. Differentiate between lump-sum, proporticnal
and advalonem tax.
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